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» Sir Isaac Newton(1643 — 1727)
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= 60km/h=60 x 103/3600 m/sec = 16.7m/sec
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= LEMNEIE  x(t) > x(t+At)
AX = X(t + At) — x(t)
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At—0 At dt
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dx
X(t + At) = x(t) + —| At+O(At?
A =xO+ g (At?)

= X(t) + V(t)At + O (At?)
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V(t+ At) = v(t) +a(t) At + O (At?)
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X'(t) = x(t) —vt
y'(t) = y(t)
z'(t) =1z(t)
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» FAUNDENE=LENEES
m, (Au)a = (mg (Au) / my )W,
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m, (Al)a' = (mg (Al)/ m, )W,




a=k(Au)(W,/my),a'=k(Al)(W,/m,)
K(Au)=mg (Au)/m, (Au)
k(

Al)=mg (Al)/m, (Al)

ENE=LEME=NHIE. ME DTEFEZK
5750

U
] IImII

k(Au)
k (Al)
7] <3%x107"

=1+n




FEDERZEEAZD

» FFEIC

» ZEAYILDENHD
» [BEER

» F([ZRKYILD

» X LR
» FEN

» FIINEZHLTERT S




X7t (Dimension)

» ZFREDZZTIEELNH S

» RS FHE.EE

» BLLHEEO=0OMICIE, @D BERLHE
» EDEIGIEEDETHAINETRT

» REDRIT:[L]

» BRI D RIT:[T]

» SENDRIT:[M]




» FSHNBYILDICIE, MBDORTN—ELE
SR e esT=yaIn
= HDRIT:[MLT 4]




